9-BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)
Office of the General Manager, Katras Area
P.O. Sijua, Distt. Dhanbad.

Ref. No. BCCL/GM/IV/Civil/Quotation//2011-12/ 2837

Dated: 30.08.2011.

QUOTATION NOTICE

Sealed **QUOTATION** is invited in percentage rate above/below basis in **single part** from Experienced and bonafide resourceful civil contractors for the following civil works:-

Sl.	Nature of Job & Location	Estimated Cost	Earnest	Cost of	Time of
No.			Money	Tender Paper	Completion
1.	Roof Grading on Cap Lamp room,			*	
	Air shaft room and				
	repairing/maintenance of walls				
	around 6 pit at Katras Choitudih	D 40 445 00	D #00/	N 711 /	20.7
	Colliery under Katras Area.	Rs.49,647.82	Rs.500/-	Nil/-	20 Days.
2.	Repairing of Boundary wall of 7 unit				
	quarters (Jai Govind Singh & others)at check post colony of Ramkanali				
	Colliery under Katras Area.	Rs.24,411.22	Rs.245/-	Nil.	15 Days.
3.	Crack Repairing & other repair/	K5.24,411.22	K3.243/-	1411.	13 Days.
5.	Maintenance works in Electronic				
	Weigh Bridge(Control room) at				
	Katras under Katras Area.	Rs.20,626.24	Rs.207/-	Nil.	15 Days.
4.	Repair & Maintenance of pit water				•
	pipe line at N/L. sec. colony of				
	Salanpur Colliery under Katras				
	Area.	Rs.18,476.19	Rs.185/-	Nil.	10 Days.
5.	Repair /Maintenance of Qtr.No.116				
	of Salanpur Colliery under Katras				
	Area.	Rs.16,957.80	Rs.170/-	Nil.	10 days
6.	Repair/ Maintenance of Quarter	·			•
	No. NHS/12 at Adarsh Colony of				
	Ramkanali Colliery under Katras				
	Area.	Rs.16,489.09	Rs.165/-	Nil.	10 days.
7.	Repairing of broken Boundary wall				
	of Quarter No./Block No. N/10,				
	Quarter No.10 at Ramkanali	D 14.050.21	D 141/	N.T.1	10.1
0	Colliery under Katras Area.	Rs.14,059.21	Rs.141/-	Nil.	10 days.
8.	Making water tank at Shahid Smarak, Community Hall at line par				
	Gaslitand Colliery under Katrs Area.	Rs.25,217.00	Rs.253/-	Nil.	10 days.
9.	Providing Glass panes & wooden	115.25,217.00	10.200	1 111.	10 days.
	frame for Cup-Board at Madhur				
	Nilan under Katras Arera unit,				
	Katras Area.	Rs.6,314.37	Rs.65/-	Nil.	10 days.

Date and time of receipt/opening of Quotation:-

a) The quotation will be received on

13.09.2011 from 10.00A.M. to 3.00 P.M. in a tender box kept at:-

i) Office of Asstt.Commandant,CISF. Camp,Angarpathra.

Cont.d..P/2.

- ii)CISF Post, near Koyala Bhawan gate, Koyala Nagar, BCCL, Dhanbad in Box marked Katras Area,
- iii) CISF Post, Sijua Area V in tender box marked Katras Area,
- iv) CISF Post, Govindpur Area-III in tender box marked Katras Area,.
- b) The quotations received will be opened on 15.09.2011 at 4.00 P.M. in the office of the Area Civil Engineer, Katras Area.

All the materials and equipments required for this work will be responsibility of the contractor.

Contractors have to abide by the Labour regulations/abolitions Act. Govt. of India adopted by BCCLfrom time to time

Conditional quotations will be out right rejecte4ed.

Late or delayed quotations will not be accepted.

Quotations will not be considered by postal means.

Bill of Quantity and site conditions or the other documents such as general terms & conditions, general Specifications and credentials responsibility of the contractors, additional safety measures etc. can be seen at the office of the undersigned which will be applicable to be contract. Bill of quantity also can be seen in the company website www.bccl.gov.in during time period.

Requisite Earnest Money is to be deposited in cash with the Cashier/Dy.Manager(Finance),/Sr.F.O., Katras Area or A/c. payee Demand Draft by local nationalized bank in favour of BHARAT COKING COAL LIMITED payable at Dhanbad and proper money receipt should be enclosed with the quotations. Income Tax clearance certificate /PAN.No. & VAT is to be submitted.

BCCL Management reserves its right to reject any or all of the quotations received or to split up and distribute the work between two or more contractors for which no reasons will be given what so ever.

Area Civil Engineer, Katras Area.IV.

Copy to:-

- 1. General Manager, Katras Area,
- 2. G.M.(Civil), BCCL. Koyla Nagar, Dhanbad,
- 3. General Manager (Admn.), BCCL. Koyla Bhawan,
- 4. Sr.E.S. to C.V.O., Koyla Bhawan, BCCL.,
- 5 All Area CGM/GM's Areas & Projects of BCCL.
- 6. Addl.G.M./SO(Mining)/AFM/APM/AM(Plg.)/AM(Safety)/PM(Admn.),,Katras Area,
- 7 All Project Officer's, Collys. Of Katras Area,
- 8 All SE(Civil), under Katras Area,
- 9. Sr.F.O./Cashier, Katras Area,
- 10. Notice Board, Katras Area,
- 11. LEO©, Katrasgarh,
- 12. The Secretary, Chhatabad Malkera Adarsh Shramik Sahayog Samiti Ltd.,
 - 5 No. Chhatabad, At- Malkera Road, P.O. Katrasgarh, Dhanbad.
- 13.Asstt. Commandant, CISF Camp Angarpathra- with a request to depute Security personnel during the time period of receiving of tender near tender box and sealing the box at the time mentioned in NIT.
- 14. Commandant, CISF In-charge, Koyla Bhawwan BCCL Dhanbad -for necessary arrangement at his end.
- 15. Inspector Incharge, CISF Post, Govindpur Area-III,
- 16) Inspector Incharge, CISF Post, Sijua Area-V.
- 17) Manager(System), EDP,BCCL, Katras Area –along with a copy of NIT & BOQ.+ a C.D. against the above mentioned works for publication of the same in company website.
- 18. Tender File.

(Sl.No.1).

Sl.	Item	Quantity	Unit	Rate	Amount
No.		-			
1.	Grading roof with cement				
	concrete (1:2:4) all				
	complete.	5.60 m3	/m3.	3314.95	18,563.72
2.	6mm.thick ceiling plaster				
	1:3 all complete.	20.00 m2.	/m2.	62.15	1243.00
3.	P.C.C. 1:2:4 in columns all				
	complete.	0.50 m3	/m3	3257.45	1628.72
4.	12mm. thick cement				
	plaster 1;6 complete job.	381.41 m2	/m2	67.65	25,802.38
5.	White washing with lime				
	two coats all complete.	400.00 m2	/m2	4.10	1,640.00
6.	Colour wash two coats all				
	complete.	200.00 m2	/m2	3.85	770.00
				Total (Rs.)	49,647.82

Bill of Quantity for Repairing of Boundary wall of 7 unit quarters (Jai Govind Singh & others)at check post colony of Ramkanali Colliery under Katras Area.

(Sl.No.2).

S1.	Item	Quantity	Unit	Rate	Amount
No.					
1.	Earth work excavation in				
	foundation trenches etc. all				
	complete.	2.60 m3	/m3	103.40	268.89
2.	Providing cement concrete 1:4:8 in				
	foundation etc.complete.	0.57 m3	/m3	2296.15	1308.80
3.	Brick work in cement mortar 1:6				
	F & P. etc. complete.	5.65 m3	/m3	2007.00	11,339.55
4.	Brick work in cement mortar 1:6				
	in Superstructure etc. complete.	2.97 m3	/m3	2315.50	6,877.03
5.	12mm.thick cement plaster 1:6				
	all complete.	60.00 m2	/m2	67.65	4,059.00
6.	Colour washing with lime (two or				
	more coats) etc.complete.	60.00 m2	/m2.	9.30	558.00
				Total:(Rs.)	24,411.22

 $Bill\ of\ Quantity\ for\ Crack\ Repairing\ \&\ other\ repair/\ Maintenance\ works\ in\ Electronic\ Weigh\ Bridge(Control\ room)\ at\ Katras\ under\ Katras\ Area.$

(Sl.No.3.)

Sl.	Item	Quantity	Unit	Rate	Amount
No.		•			
1.	Dismantling brick work groove				
	cutting all complete job.	0.15 m3	/m3	310.75	46.61
2.	R.C.C. 1:2:4 all complete	0.15 m3	/m3	3,720.00	558.00
3.	Reinforcement for RCC work				
	all complete.	10.00 Kg.	/Kg.	42.70	427.00
4.	12mm.thick cement plaster 1:6				
	on wall all complete.	67.00 m2	/m2	67.65	4532.55
5.	Dismantling plaster of ceiling				
	all complete.	7.00 m ²	/m2	8.65	60.55
6.	Providing False ceiling all				
	complete.	7.00 m2	/m2	502.10	3,514.70
7.	Brick work in cement mortar				
	1:6 F & P. all complete.	1.00 m3	/m3	2007.00	2007.00
8.	Distemparing with Oil bound				
	distemper two coats all				
	complete				
		80.00 m2.	/m2	23.55	1884.00
9.	Painting two coats with				
	synthetic enamel paints all				
	complete.	66.00 m2	/m2	22.85	1508.10
10.	Distemparing with dry				
	distemper two coats all				
	completer.	164.00 m2	/m2	12.35	2,025.40
11.	White washing two coats all				
	complete.	69.00 m2	/m2	4.10	282.90
12.	Color washing two coats all				
	complete.	117.10 m2	/m2	3.85	450.83
13.	12mm.thick cement plaster with				
	punning 1:4 all complete.	34.00 m2	/m2	97.90	3328.60
				Total:.	Rs.20,626.24

 $Bill\ of\ Quantity\ for\ Repair\ \&\ Maintenance\ of\ pit\ water\ pipe\ line\ at\ N/L.\ sec.\ colony\ of\ Salanpur\ Colliery\ under\ Katras\ Area.$

(Sl.No.4)

S1.N	Item.				
0.		Quantity.	Unit./	Rate	Amount
1.	Dismantling pipe line all complete.	42.68 mtr.	/mtr.	29.05	1239.85
2.	Providing/Fitting/fixing G.I. pipe				
	50mm.dia. all complete.	48.29 mtr.	/mtr.	280.10	13,526.02
3.	Providing, fixing G.I. Union socket				
	50mm. dia. all complete.	5 No.	Each.	235.60	1178.00
4.	Providing, fixing A.C. sheets all				
	complete.	3.00 m2	/m2	279.84	839.52
5.	Making connection all complete.	4 No.	Each.	423.20	1692.80
		_		Total (Rs.)	18,476.19
		-		<u>-</u>	

Bill of Quantity for Repair / Maintenance of Qtr.No.116 of Salanpur Colliery under Katras Area. Sl.No. 5)

S1.	Item	Quantity	Unit	Rate	Amount
No.					
1.	25mm. thick cement concrete				
	flooring 1:2:4 all complete job.	26.00 m2	/m2	141.11	3,668.86
2.	12mm.thick cement plaster 1:6 etc.				
	complete job.	48.32 m2	/m2.	67.65	3,268.84
3.	Grading roof with cement concrete				
	1:2:4 all complete job.	1.63 m3	/m3	3314.95	5,40336
4.	Providing, fixing A.C. sheets				
	roofing all complete.	13.50 m ²	/m2	250.87	3,386.74
5.	White wash with lime (two or				
	more coats) all complete	300.00 m2	/m2	4.10	1,230.00
		_		Total: Rs.	16,957.80

Bill of Quantity for Repair/ Maintenance of Quarter No. NHS/12 at Adarsh Colony of Ramkanali Colliery under Katras Area. (S1.No.6)

S1.	Item	Quantity	Unit	Rate	Amount
No.		-			
1.	Brick work in cement mortar 1:6				
	in Superstructure complete job.	0.09 M3.	/m3.	2137.95	192.41
2.	Half Brick work in cement mortar				
	1:4 in F & P. complete job.	4.75 m2.	/m2	289.35	1374.41
3.	12mm.thick cement plaster 1:6 all				
	complete.	40.00 m2	/m2	67.65	2706.00
4.	6mm.thick cement plaster 1:3 all				
	complete.	9.50 m2	/m2	62.15	590.42
5.	12mm.thick cement plaster with				
	punning 1:4 all complete.	5.95 m2	/m2	97.90	582.50
6.	25mm.thick cement concrete				
	flooring 1:2:4 all complete.	40.00 m2	/m2	141.11	5,644.40
7.	Providing steel door/window all				
	complete.				
	a) Door	50.00 Kg.	/Kg.	48.95	2,447.50
	b) Window				
8.	White wash two coats with lime				
	all complete.	150.00 m2	/m2	4.10	615.00
9.	Colour wash two coats with lime	80.00 m2	/m2	6.75	540.00
10.	Painting with synthetic enamel				
	paint all complete.	38.00 m2	/m2	22.85	868.30
11.	Fixing door/window all complete.				
	a) Door	2 Nos.	Each	354.45	708.90
	b) Window	1 No.	Each.	214.20	214.20
				Total (Rs.)	16,489.09

Bill of Quantity for Repairing of broken Boundary wall of Quarter No./Block No. N/10, Quarter No.10 at Ramkanali Colliery under Katras Area.

(Sl.No.7)

S1.	Item	Quantity	Unit	Rate	Amount
No.					
1.	Dismantling Brick work in cement				
	mortar complete.	3.85M3.	/m3.	310.75	1,196.38
2.	Brick work in cement mortar 1:6				
	in Superstructure all complete.	4.98 m3	/m3	2137.95	10,646.99
3.	12mm.thick cement plaster 1:6 all				
	complete.	38.50m2	/m2.	67.65	2,604.52
4.	Color wash two coats all complete	38.50 m2	/m2	6.75	259.87
4.	Fixing of door	1 No.	Each.	354.45	354.45
5.	Less for using old bricks all				
	complete.	590.00 Nos.	%0Nos.	1700.00	(-)1003.00
				Total (Rs.)	14,059.21

Bill of Quantity for Making water Tank at Shahid Smarak Community Hall at line par, Gaslitand Colliery under Katras Area. (Sl.No.8)

S1.	Item	Quantity	Unit	Rate	Amount
No.					
1.	Brick edge soling all complete job.	13.94 m2	/m2.	195.78	2,729.17
2.	Providing cement concrete 1:2:4				
	all complete.	1.06 m3	/m3	3257.45	3452.89
3.	Brick work in cement mortar 1:6				
	in F & P. all complete.	5.79 m3	/m3	2007.00	11,620.53
4.	12mm.thick cement plaster with				
	punning 1:4 complete job.	34.40 m2	/m2	97.90	3,367.76
5.	25mm thick P.S. flooring 1:2:4				
	Cement concrete all complete	9.18 m2	M2	141.11	1,295.38
6.	Earth work excavation in				
	foundation all complete.	8.50m3	/m3	103.40	8787.90
				Total (Rs.)	31,253.63

Bill of Quantity for Providing Glass panes & wooden frame for Cup-Board at Madhur Nilan under Katras Arera unit, Katras Area.

(Sl.No.9).

Sl.	Item	Quantity	Unit	Rate	Amount
No.		Ç v. 13			
1.	Providing wood work in frame of door window & other frame work etc all complete. a) Sal wood	0.079 m3	/m3	30511.90	2,257.88
2.	Renewing glass panes & refixing of existing wooden fillets wherever required all complete. a)Float glass panes of thickness 5.5mm.	4.46m2	/m2	553.35	2,467.94
3.	Providing, fitting, fixing 'T' channel all complete.	84.00 Feet.	/Feet.	13.00	1.092.00
4.	Painting with synthetic enamel paint two or more coats.etc. complete	2.77 m2	/m2	51.30	142.10
5.	Fixing of Door window all complete	1 No.	Each.	354.45	354.45
				Total (Rs.)	6,314.37